Crosley CW6000Q 05 - CONTROL PANEL

© 0 N O

Crosley Residential Crosley CW6000Q Washer Parts Parts Diagram 05 - CONTROL PANEL
Click on the part number to view part

21001773 Panel, Control
21001769 Endcap, Panel
253092 90767 Screw, 8A X 3/8 HeX Washer

Head Tapping
Screw, 8A X 3/8 HeX Washer

2egl2 WTHL Head Tapping

21001768 Endcap, Panel

21001226 Swit.c.h, Water Temp. 4

B Position

25.3092 90767 Screw, 8A X 3/8 HeX Washer
~ Head Tapping

253092 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping

21001554 Switch, Water Level

21001771 Skirt, Timer Knob

21001770 Knob, Timer

21001517 Shield, Control

21001766 Frame, Control Panel


http://www.pwslaundry.com/c-511993-residential-crosley-cw6000q-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10428386-crosley-21001773-washer-panel-control.html
http://www.pwslaundry.com/i-10431016-crosley-21001769-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431019-crosley-21001768-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10430073-crosley-21001226-washer-switch-water-temp-4-position.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429867-crosley-21001554-washer-switch-water-level.html
http://www.pwslaundry.com/i-10431022-crosley-21001771-washer-skirt-timer-knob.html
http://www.pwslaundry.com/i-10431025-crosley-21001770-washer-knob-timer.html
http://www.pwslaundry.com/i-10429897-crosley-21001517-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10428387-crosley-21001766-washer-frame-control-panel.html

Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping

" 21001561 Timer

13 21001776 Switch, Rocker

MANUAL, USE & CARE

21001725 Not Available (SPAN)


http://www.pwslaundry.com/i-10429883-crosley-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10430122-crosley-21001561-washer-timer.html
http://www.pwslaundry.com/i-10431031-crosley-21001772-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10428389-crosley-21001776-washer-switch-rocker.html

	Crosley CW6000Q 05 - CONTROL PANEL

